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{1 -1/ PART -1
91« {9 9 fArneme / CHILD DEVELOPMENT & PEDAGOGY

31 : =it goal & Gav 37 & [ qae afEd ey g

Direction : Answer the following questions by selecting the most appropriate option.

[A]

Level-3/4306

1. ‘Zﬁ MM & a9 SR & gAES 1. Positive facilitation of present learning
w9 qgare ST, 33T F AR W through past learning, for example
T Gl a on dfsear @ TR addition helps multiplication. This type
(ﬂ'{:ITW) BT 3G TBX 1 AW of transfer of learning is called :
RIFRRYT HEA ¢ -

(1) FHeEE (2) STHHE (1) Vertical (2) Sequential
(3) wIEE @) fEneE (3) Lateral (4) Bilateral

2. fooe@ @SS @R St @ 2. The democratic organisation of school
yeifad FRar B, ST H T BB influence learning, this factor of
Twefeed ® - learning is related to :

(1) fofy e o | (1) Methodological aspect
(2) qmHIf® 98 | (2) Social aspect

(3) FH 9w (3) Physiological aspect
(4) TR ger & (4) Psychological aspect

3. fy=ifeReq § @ d-€t Ao foenfiat & 3. Which of the following is not an
e S| 1 ga T & fQ appropriate strategy for improving
SEREN TR ? students' problem solving ?

(1) ICEIRRIRE B CAR R CR R K (1) Functional fixedness of students

(2) TEAAR-[9ed qEERT & TN & (2) Give extensive opportunities to
fTT e STEER A solve real-world problems

3) AP B THET FEEE § A (3) Involve parents in children's
HI |iAfed B problem solving

@) il & guer gmye S g (4) Monitor students effective and
AR ol dAewrel @ HireX ineffective problem solving
(EIE?[%FT) HTT strategies

4. A Eﬂgt_ﬁﬁ EIECIERURCE RG] J& 96 4. Rohan is reading a latest Bahubali comic
@ 2 Ak T8 29 dd Pl lX T B book because he cannot wait to see what
T % SgEe IR 36 URAR & A happens to Bahubali and his family. This
R g1 | I8 T T T is best example of :

(1) Haq SN AU H (1) Only intrinsic motivation
2) Had STl STEROT H (2) Only extrinsic motivation
(3) ST<iR® AR ST A PR B SRR (3) Both intrinsic and extrinsic motivation
@4 = A TaRe SR T & ST SRERET (4) Neither intrinsic nor extrinsic motivation

P.T.O.



[A]

Hiepios JanE (FE) 8 S99 & g

freifoie & & -6 T STl b

e B ?

(1) fafy= faftal @1 Swam feenfR &
M & T B

(2) TH W AFDHIHT TUE0T H ST

HET

(3) AHESI fAR=eT @l AR
% BT T

(4) ST B LW P [T GEHTA B
ST § S

Heaa] & Har ¥ 5 & W Afas
o 9@ AMel UX omuiRa e B
ST GX SR 2l & °

(1) E-S=eH &R

(2) T &Y

(3) 99T Y= &N

(4) ST Siqaateds WY

fF e fha UWEr dOe 9
HOM T GHEST H GHIEN BT 39
ff gifad &ear &1 39 e # foww
& I Bl &

(1) SATgefmEp

(Z)Err{ﬁ $ % AgHdl

3) T X S8 AR
(4) gaqar (FReaan) s™

frfofaa & @ @S- Ao fenffat &
FiivTh  (STeleIorh) fawm @i &
Wﬁﬂ%ﬁﬁﬂ@@ﬁ)ﬁaﬂéﬁ%?
) A (Sgfshedl) TR S
mﬁa%g; ¥ weayt Wl Rk
P PG TG BT BE A
(3) fRE ® W TER B TR
HH H a1 BEA I ST qed
gﬁ?ﬁﬁﬁﬁﬂi’rmﬁraﬁng

(4)%@&?&%3}16@%@?5@6
& 6 ‘A M
HeMaY Y91 47 B B gHES
7T GUST FHifoTT

Level-3/4306

[4]

Which of the following is a good

assessment strategy to avoid cultural

bias ?

(1) Assess students using a variety of
methods

(2) Use a single, good standardized
test

(3) Assume that ethnic differences are
due to heredity

(4) Avoid using  portfolio  for
assessment purposes

In Kohlberg's theory, at which level
moral development is internalized and
not based on external standards ?

(1) Pre conventional level

(2) Conventional level

(3) Post conventional level

(4) Mutual interpersonal level

A child's diet affect how tall the child
grows and even how effectively the
child can think and solve problems. In
this example development is primarily
influenced by :

(1) Heredity

(2) Environment

(3) Early-later experience

(4) Continuity

Which teaching strategy is most likely

to foster the development of critical

thinking skill of students ?

(1) Giving a multiple choice test

(2) Assignment for students to create
timelines of important historical
dates

(3) Giving worksheets to students that
require them to recall the facts
presented in their text books

(4) Presenting students with statements
such as "Lal Bahadur Shastri was
our greatest Prime Minister" to
defend or refute



10.

11.

12.

13.

AR, e @ue ®
ﬁssﬁrmﬁﬁm%wﬁ-@ﬂﬁ@ﬁ:r@
ST H I HAF F © 7

(1) TR (T5aH) Hae

(2) YBAM IuAley

(3) YBaM fqas=H

(4) TEEM ArEE-FEY (BREIR)

R fenfaidl & o1y # #Rd 99g Th

AeHOE & U gaite SugE FM

T B

(1) feenfiEl § ol &3 & [T e

() & guE FX e @
qReheaHIeT HLEMT

(3) NIl I FHHA Gk H I
T&N B

(4) Th FH TA GHA YAl IS Hl
I/ HET

J 9% A e F AW S &

3fte feorar B &

(1) 20/70 & 20/200

(2) Y MaR® o6l & | 20/20 3fe

(3) A9 FaR® a6l & 9y 6/6 gfte

(4) 20/10 & 20/30
arftrmear (1R i T
mw%awﬁﬁﬁ
sl @t derdr | SNl gHe @ ffia

FE B U Teded B 8, 98 ® ¢
(1) Sradt TfrFm

(2) AFERIT oFast TferTy

(3) e e SAfF™

(4) YT SR ST

g% b AU, 99 T8 [BHl B W
Piad TE @ U, SAY fRAT
g, g Ml @ qXaE el wear @
iR ol B A9 WA & 9™
IFIIYFTT Sie T o/ B, g ¥

(1) FEEM AT FAlHhI R &
(2) WE STrTEal (TN ) &
(3) HAFfEH Hadl &

4) FiT qoE F

Level-3/4306
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10.

11.

12.

13.

[A]
According to Erikson, in complex
societies teenagers experience which of
the following state ?
(1) Identity crisis
(2) Identity achievement
(3) Identity moratorium
(4) Identity foreclosure

Most suitable strategy for a teacher,
when he/she is working with adolescent
students is to :

)
2

Ask students to make comparisons

Propose a problem and invite

students to form hypothesis

Give children
ordering operations

3)

experience  in

“4)

Children considered as low vision who

Construct an inclined plane or a hill

have a visual acuity between :

(1) 20/70 to 20/200

(2) 20/20 vision with corrective lenses
(3) 6/6 vision with corrective lenses

(4) 20/10to 20/30

Learner centered instructional strategy
in which students are encouraged to
construct their understanding with the
assistance of teacher through questions
and directions is :

(1) Discovery learning

(2) Guided discovery learning

(3) Problem based learning

(4) Project based learning

Child's symptoms when, he/she can not

stay focused on a task, act impulsively,

ignoring social rules and lashing out

with hostility when frustrated, is

indication of :

(1) Attention — deficit hyperactivity
disorder

(2) Slow learner

(3) Mentally retardation

(4) Amnesia

P.T.O.



[A]

14.

15

16.

17.

18.

THR wErEgd © N TRR Ak
arferes ffforars Riera @ awafeea ¥ |

(1) R (2) AW

(3) T (4) TGN

1o - KOG o Y | 4791 G I et e G
YR, feErff & wRER, @ R
foemg onfe Su® A & gead Hd
g X 3 gy Eq ® -

() F@ T q (2 gEaA |
@) TITHA @) IJFTH A

AT ® IAN, FE B
i S e ST @ Y S8
W We oMY s g
el § BT €9 8, Heat
(1) SHfET

(2) 3T AfRAT~TSaT

(3) FRivE qewfa

(4) ST fa@E &=

et & orfeR, Frfafad & @ @e-a
fuar sl & Nueie  fhaTs
e Tl 7@ e ?

(1) INREHTHD- TS TebT
(2) STEIMETEl qE

(3) T+ T

(4) ST b

Ted & gha TOEr S§ SfEd iR
q ofF gRE @ el 8| e
Yes, aaql, g [ R faee &
Is oafis I (FH) 21 SE M B
IT FH I X AW P TG 2 |
A H GO ©
(1) fEacgfern
(3) feaafrm

a8
oA &
et @
o

afea
ITD

(2) feaanithar
4) feonfam

Level-3/4306

15.

16.

17.

18.

is to social cognitive theory as

Vygotsky is to social constructivist
theory.

(1) Skinner
(3) Piaget
According to

(2) Seigler

(4) Bandura
Bronfenbrenner's

Ecological Theory,

peers and school etc. influence his/her
development and they belong to the :

student's family,

(1) Chrono system (2) Micro system
(3) Macro system (4) Exo system

According to Vygotsky, a range of task
too difficult for the child to do alone but
possible with the help of adults and
more skilled peers is called :

(1) Scaffolding
(2) Inter subjectivity
(3) Guided participation

(4) Zone of proximal development

According to Piaget, which of the
following characteristics is not related
to formal operational stage of children ?
(1) Hypothetico-deductive reasoning
(2) Idealistic reasoning

(3) Spatial reasoning

(4) Abstract reasoning

Parul's intelligence test indicate that she
is average to above average intelligent.
However her grades in reading,
spellings, social sciences and science are
very low. Her maths grades are quite
high & her writing skills are adequate.
Parul most likely has :

(1) Dyscalculia (2) Dysgraphia

(3) Dyslexia (4) Dysphasis



19.

20.

21,

22,

frfafeg & @ f9-91 g9 foeniiat @

M WM W fgde dW H i

g R ?

(1) W& Sad § o9 fe &
HaiTeF FEE@q © 7

(2) ST S S ® 68 TeR Eied
H HqHA B 7

(3) oY o8 YT U A o 4 W
T & ?

(4) oMY S TR Jea¥ STedalics g
ST T B 7

gfeenanell St & fog et § @

BT FIFT UG 78] ©

(1) fafare e

(2) SUARHS freror

(3) @R (TiEs)

(4) AWM Fel § G

R & TJeaal aif e STeR

amedl olR oTEfye T P B B

T B PR B TE SR e

frepR eaa ®

(1) TARRET Farer

(2) SrEEA-TEERG e (SRt
FHrfeda =)

frfofed & & PH-T1 FF TR0 9= B
el SUgHRT €9 § U He © 7

(1) 99 omWEwedm da« I«@w @
fafare foemeat & farem 3

(2) Y omWEwEN d« TR W
foemerat & fafare e & fRrew 3

(3) faRIY STasFedr i SIehl Sl A
Fe H STy @Ry fvem &

(4) A9 ETHAT W TED B
A e § Qe R A

Level-3/4306
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19.

20.

21,

22,

[A]

Which of the following question is most
likely to get students to reflect on their
purpose ?

(1) What is most important to you in
your life ?

2
3)

How can you organise your life ?
What can you do to get good
grades ?

(4) How can you set better short term
goal ?

Which of the following programme is
not suitable for gifted children ?

(1) Special classes

(2) Remedial Teaching

(3) Acceleration

(4) Enrichment in regular classroom
setting

Young people mainly girls engage in
strict dieting and excessive exercise.
This eating disorder in adolescence is
known as :

(1) Anorexia Nervosa
(2) Obsessive Compulsive Neurosis
(3) Neuro-developmental Disorder

(4) Bulimia Nervosa

Which of the following statement most

appropriately defines the term inclusion ?

(1) Educating children with special
needs in special school

(2) Educating children with special
needs in special classroom of
school

(3) Educating children with special
needs most of the time in regular
class

Educating children with special
needs full time in the regular

classroom

“)

P.T.O.



[A]

23.

24.

25.

26.

27.

Wﬁ%aﬁﬁﬁwﬁ@aﬁﬁ
97 7E e ?

(2) GAT W9 @ W | 2

(3)?maﬁﬁmmaﬁ
|

(4) dam W R emEre
Rr-fe ot foe e B

Sg foEmdl ofrm vy & o

et 36 THeM & S SUNH @

SEN #d & FE oW A

frfafeg & @ @9-T@ 2 ?

(1) FEelis Ao (2) STRM el

(3) "9 ¥ (4) T A

56 U Sl AYa @ S gEd W

JaTg BIE 3, Hea § ¢

(1) TS & 6T

(2) T P AR (BH)

(3) AT & HqRD &9

(4) T B TGHH (HRwHH)

STFM F g8 oEe Red T 9 offie

et T gEl @ ORA iR Sited &

g, Fedr © :

(1) & (<) farerer

(2) AR AR

(3) TEar SIfEm

(4) ST SFEH

frfafag & @ B9-a1 HI Ib A

3 freril & X TR ?

(1) fopre & ffed ok g Srgit
T § B 2|

(2) it & o GHE ¥ '\E e
g

3) fowm omgERE SR amEReT @
SR (afRem) B

4) fTFE T & e W ad
T & |

Level-3/4306
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23.

24,

25.

26.

27.

Which of the following statement is

correct about the nature of emotions ?

(1) Emotional expressions
modified by learning.

(2) Emotions are permanent state of

the organism.

are

(3) Emotions are aroused by internal
stimuli.
(4) Certain facial expressions of

emotions have different meanings.

Which of the following type of learning
style is used when students approach
the learning material in a way that helps
them understand the meaning of the
materials ?

(1) Practical style (2) Impulsive style
(3) Surface style (4) Deep style
Speaking or writing in such a way as to
have an impact on others is known as the :
(1) Grammar of language

(2) Phonemes of language

(3) Pragmatics of language

(4) Morphemes of language

Learning situation in which multiple
partners stimulate and encourage one
another is called :

(1) Team teaching

(2) Programmed instruction

(3) Cooperative learning

(4) Discovery learning

Which of the following statement is
incorrect about the principles of child
development ?

(1) Development follows a definite and
predictable pattern.

All individuals are similar in their
development.

Development is  product  of

hereditary and environment.

2)
3)

“) the

Development  works  on
principle of integration.



28.

29.

30.

MER & AR, FA0 & g (v
@I AREROTET &R W& F Teame Ak

SUGRT STIFRAT B & AR FHEdAN ©

(1) wte gfe

2) few-Tioaa® e
(afecti-areaedfes i)

(3) Siddarr® g

(4) SiTEaR g

s & ogaR, A @ s
AN URRgE @ @ o Qe
HYA & Th B GAHT B B A
R

(1) TS foar

(2) gifsifea Fepy (HepAelE STHM)
(3) WG AFRE

(4) fae=mEe

frefofag & @ fp@ gdsniye 9
frMeeer & Uil R
‘PR 98w (orafy) § forad
s oliX aR® &7 @ STeomEeen 9
e # X 9 27 ?

(1) To FHo TRE

(2) 3o Ho EAH

(3) Mo Yo 3™

(4) THo FRAEA

[9]

28.

29.

30.

[A]
According to Gardner, the ability to
detect and respond appropriately to the
moods, temperaments, motivations and
intentions of others, is known as :
(1) Linguistic intelligence
(2) Bodily — kinesthetic intelligence

(3) Interpersonal intelligence

(4) Intrapersonal intelligence

According to Piaget, adolescents ability
to evaluate the logic of verbal statement
without  referring to
circumstances is :

real-world

(1) Propositional thought
(2) Transitive inference
(3) Cognitive mapping

(4) Decentration

Which of the following psychologist
defined adolescence as "Adolescence is
that span of years during which boys
and girls move from childhood to
adulthood, mentally, emotionally,
socially and physically" ?

(I) A.T. Jersild
(2) E. B. Hurlock
(3) L P.Davis
(4) H. Sorenson

Level-3/4306

P.T.O.
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31

32.

33.

34.

B I e A A SR I O
FIfoTT :

(1) wgr

(2) g

(3) TAGAD

(4) s

diy-fese wd - @ gfe @

ST ehed AT

(1) g + @ = 9

(2) T + T = T

(3) UR + FHd = IR

(4) T + AR = TEIK

fopq faeheq # & IUEET B A & g
g7

(1) IR

(2) =y

(3) e

(4) ATTArH

e faheq H ‘oUEM TgEY H ST
TET g B ?

(1) SRt

(2) ST

(3) V=B

(4) TEBRI

Level-3/4306

35. ‘TS H Afeaw aEe Ui e
qE0E W@ - 39 9 ° ggE Qe
H AT A BIRTT -
(1) FiRed degmEmEs Lo
(2) e demErEs L
(3) iR gRHERS Lo
4) Ut Sigsh degmErEm Qe
36. fhe o= & ‘ofa’ IR H TN oVl & ?
(1) s
(2) @™
(3) StE=d
(4) o

37. @Al H I W 7T faehed YT

(1) e MW 9 ThHaad
TP Bl & |
(2) AfFdaTH TSE S &l 2|

3) 3=, [N, T, TG AR A
Aares Gsl § |

(4) AfFTEE® TG AGAED Gl B
Srfcraraes danell § WuraRer A o
el 2|



38.

39.

40.

41,

42,

P s # ‘AgarEE Fq T@d H
TN &g © 7
(1) o
(3) UBdrEr

(2) fesaE
(4) TSR

wfy % gfte & o e © -
(1) Y + HHiEr = IS
@) foEg + 9 = e

(3) 9 + HE = Y

(4) M + AT = STHTT

T HE-H AEEEEs s H
faSroraTe® S § 787 g § ?

(1) Thea
(3) ST

(2) TIFETH
(4) M9

“A qe9 afed Rl ar dsd &7 -
g qeg § faQmr @ HE-d orawen @

ST g § 7
(1) ©=Eer  (2) JamEe
(3) TWEET  (4) IAEET

BT & oY H oG HYT g
(1) To=pd & A ded ‘B e o1

WA e oqd BRA | TR
T 2

(2) I g # F FH &, ar e |
R’ o fTREe’ U HE WA
I o § 98 ‘e & OB § |

[11]

43.

44,

45.

[A]
3) % &4 % s o el O
= P STETHAT ol TS & I%
‘gt e R Fed © |
4) o, TN @GN TEE T
Tt fRaTe Bt ¥ |

it gftc § g I8 &l =G BT
(1) 3=
(2) RS
(3) offess
(4) et

Tir-foare @ sfe @ o FA W

gifeg

(1) %I, i, TR ST 08 ¢ |

2) ‘AT foprReE o B A9 S
gl

(3) G, HaW T§ favErs |l
gt # fofr @t gfte & fer 2 B

4) B, ¥, A9 oy =
AT STE & arad UE 2 |

et & ‘oifees’ avt -1 & ?
1 3 2) @

3 X 4) @

Level-3/4306

P.T.O.
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[12]

[ 3135ft / ENGLISH ]

Direction : Answer the following questions by selecting the most appropriate option.

46.

47.

48.

Which one of the following words
underlined in the sentences given as
options has been used as a verb ?

(1) The stage performances are called
Raas Leela.

(2) The performers enacted Raas Leela

on the stage.

(3) Each actor performed in a circular

space on the stage in Raas Leela.

(4) The performing artist moved in a

circular space on the stage in Raas
Leela.

Select the correct option from the
following that correctly transforms the
following sentence from Direct speech
to Indirect speech :

He said, 'Congratulations !'

(1) He congratulated me.

(2) He said to me congratulations.
(3) He exclaimed congratulations.

(4) He is saying congratulations.

Fill in the blank with the correct

preposition :

Do you usually go out ........ Saturday
evenings ?

(1) in (2) at

(3) on (4) within

Level-3/4306

49.

50.

51.

52.

Choose the correct verb form in the
following sentence against the blank
space so as to complete the sentence :

"My father .......... for  Delhi
yesterday."

(1) leave (2) will leave

(3) left (4) will be leaving

Choose the correct option to fill in the
blank space in the sentence which
expresses the correct notion hinted in
the bracket against the blank space :

"You ...... (command) apologise or
face the consequences."

(I) must (2) shall

(3) may (4) could

Pick out the correct option to indicate
the use of adjective in the following
sentence :

"A Cool breeze blew from the sea."
(1) breeze (2) sea
(3) cool (4) blew

Identify the underlined word in the
given sentence.

I see him passing my house every day.
(1) Gerund

(2) Present Participle

(3) Infinitive

(4) Object



53.

54.

55.

56.

57.

Identify the correct meaning of the
underlined idiom in the following
sentence from the options given below :

"Climbing Mt. Everest is not a child's
play for anyone."

(1) very easy to do

(2) very difficult to do

(3) pleasant to do

(4) boring to do

Which one of the following sentences in
the options given below illustrates the
use of Intransitive verb ?

(1) Fire burns.

(2) The principal hoisted the flag on
Independence Day.

(3) She is reading the newspaper.

(4) Our team won the match.

Choose the correct set of articles from
the given options in the following
sentence against the blank space :

"The teacher wrote ......... outline of a
storyon ......... blackboard."

(1) a,a (2) an, the

(3) the,a (4) a,the

Which one of the following words is
not anoun ?

(1) advice (2) rice

(3) device (4) nice

Choose the word which is spelt
correctly :

(1) Beegning (2) Biginning

(3) Beginning (4) Begining

[13]

58.

59.

60.

[A]

"Reading improves your knowledge."

Identify the gerund in the above

sentence from the options given below :
(1)
2)
3)
“)

knowledge

improves

reading

your

Which of the options given below is the

correct passive form of the following

sentence ?

"The Bhagvad Gita presents a balanced
philosophy of life."

(1) A balanced philosophy of life is
presented by the Bhagvad Gita.

(2) A balanced philosophy of life has
been presented by the Bhagvad
Gita.

(3) The Bhagvad Gita has presented a
balanced philosophy of life.

(4) A balanced philosophy of life was
presented by the Bhagvad Gita.
Identify the compound word from the
options given below :

(1) Development
(2) Newspaper
(3) Powerful

(4) Childhood

Level-3/4306
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[A]

[14]

HET -1/ PART -1l
Y AT/ GENERAL STUDIES

[ A QRTAT, dliche SARTEHT Rl | 5T Td 1RSI / QUANTITATIVE
APTITUDE, REASONING ABILITY AND G.K. & AWARENESS ]

3% : =it goal & Gav 37 & [ qae afEd ey g

Direction : Answer the following questions by selecting the most appropriate option.

61.

62.

63.

64.

65.

3 dSH H o|d MF 16 I T AR
I Y B AU 4 : 57 &, A
94 BIC T8 Hl g Fer & 7

(1) 8 a8 ) 9 a9

(3) 12 a9 4) 16 a9

fordl alien & 60% feemdl s # e
70% TR # I gY, A 20% fereed
ae fowai W® & q° 2500
foemet T ool & oot @ @, @ &
qheniEl i He e § 7
(1) 3000 (2) 3500
(3) 4000 (4) 5000

A BATRIILIAEHCAND,E TR
ZTIEEARCE A R AN C, B A
ger %, @ W H @ dm-a &N
MATE &4 ¥ gF e ?

(1) A,C g8l (2)C,D d sgI 81
(3) D,C § 981 81 (4)E, B § e 2|

TH T P Eel dae @t 81 A R B
F ag F X offed B1 A & T& &R Y
BIAZ o B T wah Wik B 7
(1) @@ W (2) W

(3) | (4) 9B
BAXC&H 9 ABICEH A D B
A% E B @ frafefeg & §
H-TT 7FF B ERT 7

() E& g B Bl

(2) B & @1 E 81

(3) D 1 9 E B

4 D& T A 3|
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61.

62.

63.

64.

65.

The average age of three boys is 16 years
and the ratio of their ages is4 : 5 : 7, find
out the age of smallest boy.

(2) 9 years

(4) 16 years

(1) 8 years
3) 12 years

In an examination 60% of students passed
in English and 70% students passed in
Maths, 20% students failed in both subjects,
2500 students passed in both subjects. Find

out total number of students :
(1) 3000 (2) 3500
(3) 4000 4) 5000

A is elder to B while C and D are elder
to E. E lies between A and C and C is
elder to B, then which of the following
statements is necessarily true ?

(I) AiseldertoC (2) CiseldertoD
(3) DiseldertoC (4) Eiselderto B
Bottom surface of a cube is empty. X is
marked between A and B. Y marked on

the left of A. Then Z marked on which
surface of cube ?

(1) bottom side (2) up side

(3) infrontside (4) in back side

A is the brother of B and C. D is the
mother of C. E is the father of A. Then
which statement is false ?

(1) Bissonof E.

(2) E is father of B.

(3) Eis husband of D.

(4) Aissonof D.



66

67.

68.

69.

70.

71.

72.

. STl auigrer H fRAw ofe & &g
yfafers srafRafad w©a 2 ?
(1) 8 2) 9
3) 12 “4) 11
=1 9o & 7 ag A SIRE
1CV, 5FU, 91T, 15LS, 170R
(1) 5FU (2) 9IT
(3) 15LS (4) 170R
Ry W fymdl § ¥ §97 B ¢
1) 171 () 131
(3) 161 4) 181
frrifoiiea o=t & =y § U U o
% AR fofem :
i.  Critical ii. Criterion
iii.  Crisis iv. Crisp

(2) i, iii, iv, ii
@) iv, iii, i, ii

(1) iii, iv, ii, i
(3) iii, iv, i, ii
i AN U H fquda w9 § forg
fer o, o s ok @ 199 SR &
Tt X 84T 18 HIF-A1 BN ?

() T (2) P

3) Q 4) R

g 'PROPERTY' ¥ e} & U@ fvem
W 2, s 7 § 991 S @ o @
R & o7 9 el avEer § 39

H9 D AA F A & 7

(1 0 @) 1

(3) 4 “4) 3

q AR AT B IAHA I B
SFE-AMY @8 9| A’ A H WBE A
F I I TS W B, A T B H
T fpa fesm & ® ?

(1) &Rt (2) JW

3) w 4) =™
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66.

67.

68.

69.

70.

71.

72.

[A]

In English alphabet, how many letters
are unchanged in mirror image ?

(H 8 2) 9
3) 12 @) 11

Find the wrong term in the following
series :

1CV, 5FU, 91T, 15LS, 170R

(1) 5FU (2) 9IT

(3) 15LS (4) 170R

Find the Odd one out from given
options :
(1) 171
(3) 161

(2) 131
4) 181

Write the following words in the order
given in the dictionary :
1. Critical ii. Criterion

iii.  Crisis iv. Crisp
(2) 1,iii, iv, ii

) iv, iii, i, ii

(1) 1, iv, 1,1
(3) iii, iv, 1,1l
If English alphabets are written in
opposite order, then which is the 8th
letter of the 19th letter from left side ?
1 T 2) P

3 Q 4 R

In the word 'PROPERTY' how many
such pairs of letter exist, which has the
same number of letters between them
here as what they have between them in
their order in English Alphabet ?

(1) 0 2) 1

3) 4 4) 3

Two persons A and B stand in front of
each other in morning. If A's shadow's
lies in the left side of 'A’, then in which
direction B's facing ?

(1) South (2) North

(3) East (4) West

P.T.O.



[A]

73.

74.

75.

76.

77.

78.

79.

Q%mﬁmm%aﬁ%aiﬁrdww
15% &1 91 1 &, 98 U9 d1d W
ST qed & e A ged Sfehd
fF 38 19% @9 & ?

(1) 34% (2) 40%

(3) 25% 4) 30%

oig a¥ ueEr, Rar @ oy 9Es g &
g H R S 9w 9w gE, R @
Y I G H oMY A 7 T A R
F KA Y S

(1) 40 a9 (2) 30 a9

(3) 50 ad¥ 4) 45 a9

A 6 TN % foobg g, 8 TN & WA

gm%w%,a?mﬁ/aﬁqﬁmaﬁ
(1) 25% @4
(3) 33%% B\

o 2x+7_3x+11:2x+8_5 s‘r, ?‘ﬁ

(2) 25% &=
(4) 33%% @9

5 2 3
x=7?
(O 1 2) -1
3) 2 4 =2

T%H JA9 H THYCE SFABA 264 THET
T qUT SEAN 924 THIeR B | T A
F TH HAE § FT SIIC BT 7

(1) 7:6 2) 6:7

(3) 3:7 @) 7:3

ThYE S | -6 G | 9 B
o ¥ 650 o T 2 qAY & oG H
676 To & SR ?

(1) 52059 (2) 572591

(3) 600 T4 (4) 625599

s I TERE 9 B TH @Y & W 2
¥ & fou SER fear &, AR &N B W
1% ot % Bl Al 399 240 51
s oM &l | ¥8 o9 o B 7

(1) 5,000 %o (2) 6,000 Fo

(3) 8,000 Fo (4) 12,000 o
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73.

74.

75.

76.

77.

78.

79.

A businessman gives 15% discount on
the list price of his items. How much
price he should mark on his items to the
cost price to get 19% profit ?
(1) 34% (2) 40%
3) 25% 4) 30%

After 5 years, father's age will be three
times of his son's age. 5 years ago,
father's age was 7 times of his son's age.
The present age of the father is :

(1) 40 years (2) 30 years

(3) 50 years (4) 45 years

If the selling price of 6 pens is equal to
the cost price of 8 pens, then profit/loss
in percentage is :
(1) 25% profit
3) 33%% loss
2x+7 3x+11_2x+8

(2) 25% loss
(4) 33%% profit

If 5, then
5 2 3

x=7?

1 2) -1

3) 2 4 -2

The curved surface area of a cylinder is

264 m” and its volume is 924 m3, then
what is the ratio between its diameter

and height ?
(1) 7:6 (2) 6:7
3) 3:7 4 7:3

What principal on compound interest
has their amount Rs. 650 in one year
and Rs. 676 in two years ?

(1) Rs. 520 (2) Rs.572

(3) Rs. 600 (4) Rs. 625

A principal lends on simple interest for
two years. If rate of interest more than
1% the simple interest increased by
Rs. 240. Find out the principal :

(1) Rs. 5,000 (2) Rs. 6,000

(3) Rs. 8,000 (4) Rs. 12,000



80.

81.

82.

83.

84.

125 HieX T WS 60 Bl afer goa
Pl = § TR T G B 30 Faos |
IR FX S 2 | G H qs e o ?

(1) 375 Hiex (2) 225 WX
(3) 125 #Hiex (4) 250 HeX
forem, e ToT0 e oTaRed ®
(1) & (2) fER
(3) e (4) fsTe

qerEsl & & O oY & MR W
harn & Frefafed  gemtdl @
S (vaitues orfy qdve) w9 §
FaRIT BT :

(i) 9o QT

(i) S

(iii) g Rie gger

(iv) 34 dr

HF?QQ?I gﬁn :

(1) (@), (i), (iii), (iv)

(2) G, (@), (i), @[1v)

(3) (), (i), (v), (iii)

4) (1), (v), (ii1), (1)

Rre o gera: o e @ Rife ®

(1) fEam (2) F==)

(3) famit (4) Ueas

I Iq P IR H oTOifcied O W

o FiTT

(a) ST <A U9TE fae |/ @ Sureme
ff |

(b) ST BRI H T AT, I BN
frer @ @1 Srey A T

SWE ¥ ¥ B9-a1/H9-8 & g8

2R 7

(1) %3 (a) T &

(2) Fad (b) T 2

(B) A (@ MTE (b) T

(4) (a) T (b) I T &
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80.

81.

82.

83.

84.

[A]

At the speed of 60 km per hour, 125
meter long train crosses a bridge in 30
seconds. What is the length of bridge ?

(1) 375 meter (2) 225 meter
(3) 125 meter (4) 250 meter

The district, in which Gujari Mahal is

situated :

(1) Hansi (2) Hisar

(3) Panchkula (4) Ambala

On the basis of extent of the period as

Chief Minister, arrange the following

Chief Ministers of Haryana in

descending order (longest serving first) :

(i) Bhajan Lal

(i1) Bansi Lal

(i11) Bhupinder Singh Hooda

(iv) Devi Lal

Choose the correct code :

(1) (@), (), (i), (iv)

(2) (@), (@), (iid), @iv)

(3) (), (1), (iv), (iii)

(4) (1), (iv), (i11), (1)

The district, which is mainly irrigated

by Jui Canal :

(1) Hisar (2) Jhajjar

(3) Bhiwani (4) Rohtak

Consider the following statements about

Shanno Devi :

(a) Shanno Devi
Speaker
Assembly.

(b) When Haryana was formed; she
was elected as the Speaker of
Haryana Legislative Assembly.

Which of the above statement/

statements is/are frue ?

(1) Only (a) is true

(2) Only (b) is true

(3) Neither (a) nor (b) is true

(4) Both (a) and (b) are true

was the Deputy
of Punjab Legislative

P.T.O.



[A]

85.

86.

87.

88.

89.

90.

‘G RY TARR-TT H GUEEH BN

g ?
(1) g (2) gl ;)
(4) 9 A

(3) Bl ™
3R WO TESE 4 % aR A
Jrefaiead HeH W =R ST -

(a) T FHISA-TMREE-Ioad TrsE d
off e 21

(b)%ﬂﬂ%@fﬁaﬁzooﬁﬁo@faﬁzﬁ
|
SR & Q@ B9-91 HI 78 /8 -

(1) %ad (a) 9 8

(2) 3a9 (b) I 2

B) Fdq (@ MRTE (b) T2
(4) (a) 3T (b) AT 9 &

qReve] o efaiad ® 9 e e §
T e & ?

(1) HEa (2) GHd
3) ®HEA (4) S
AT F [T IW T
(1) Gua (2) el
(3) ST (4) -9

LIRS AT BRI Aef-2018 |
frfafeg § @ B9-a1 gewrl T a1 ?

(1) (2) wF

(3) FoMPpEE  (4) TR
frfofag § & B0 B9 &1 SHeen
T T99 F § 7
(1) BT

(3) #o=X

(2)
(4) Hard
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85.

86.

87.

88.

89.

90.

Who was the editor of 'Khair Andesh'
Newspaper ?

(1) Chandulal (2) Murlidhar

(3) Chhotu Ram (4) Sham Lal
Consider the following statements about
Eastern Peripheral Expressway :

(a) It is also known as Kundli-
Ghaziabad-Palwal Expressway.

(b) The total length of this expressway
is more than 200 K.M.

Which of the above statement is/are
true ?

ey
2)
3)
“)
The Markanda river does not flow in
which of the following district ?

(1) Kurushetra  (2) Sonipat

only (a) is true

only (b) is true

neither (a) nor (b) is true
both (a) and (b) are true

(3) Karnal (4) Ambala
The state tree of Haryana is :
(1) Peepal (2) Khejari
(3) Banyan (4) Neem

Which of the following was the partner
nation in Surajkund International Craft
Fair-2018 ?

(1) Egypt

(3) Kazakhstan

(2) France

(4) Kyrgyzstan
Which of the following districts has the
lowest population density ?

(1) Karnal (2) Sirsa

(3) Jhajjar (4) Mewat
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[A]

AT - IV / PART - IV

zfqerd / HISTORY
R@sr : =i god] % Gav @7 & [ qa8 ST ey i

Direction : Answer the following questions by selecting the most appropriate option.

o1.

92.

93.

94.

95.

1857 &1 W& ‘U< [a8e’ %el, 98 o :

(1) S+ ameed

(2) =g T

(3) SNt feeTeatt

(4) T

qRd # TEl A UE | S @l
RO Fal AR &9 g 7

(1) @@dr, 1901 2o

(2) s, 1879 2o

(3) SHIERYY, 1907 3o

4) g, 1916 2o

IR ¥ SUEH s g o #El |
IR

(1) e - g

(2) uifsaq - widE

(3) g - AU

(4) TF X &9 - =9
qdidl & 98 § 1848 o H y¥|
fthehe e Tfud f6am T, a8 o

(1) RmEET F"

(2) fowg fomEmT e

(3) eARu=d fhae e

(4) giem fomEr &

e Iid T 3card il AT Sl 2

(1) 1.9 § 1.6 @ 2o Yo T
(2) 3.6 § 2.4 9 Zo Yo T
(3) 64 @@ 3o Jo I
4) 56 @@ o Yo T
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91.

92.

93.

94.

95.

A contemporary, conservative leader of
England who called 1857 a "National
Rising", was :

(1) James Outram

(2) W. Taylor

(3) Benjamin Disraeli

(4) Lawrence

Where and when was the Tata Iron and
Steel Company set up in India ?

(1) Calcutta, 1901 A. D.

(2) Bombay, 1879 A. D.

(3) Jamshedpur, 1907 A. D.

(4) Surat, 1916 A. D.

Who brought the Printing Press to India
and where ?

(1) Goa — Portuguese

(2) Pondicherry — French

(3) Surat — English

(4) Daman and Diu — Dutch

The first cricket club was established by
Indians at Bombay in 1848 was :

(1) Gymkhana Club

(2) Hindu Gymkhana Club

(3) Oriental Cricket Club

(4) Muslim Gymkhana Club

The time of the origin of the Homo
Sapiens is supposed to be from :

(1) 1.9to 1.6 Lakh B.C.

(2) 3.6t02.4 Lakh B.C.

(3) 64 Lakh B.C.

(4) 56 Lakh B.C.

P.T.O.



[A]

96.

97.

98.

99.

100.

i 1847 weredl § et e
T AR I AEH H GART HI

(A) EEER () gtz et @t
(B) 3fag (i) fepfera @i
(C) BeTETe (iii) 9@ @i
(D) St (iv) Je=ie @i

(1) A-i, B-iv, C-iii, D-ii
(2) A-ii, B-iii, C-iv, D-i
(3) A-i, B-ii, C-iii, D-iv
(4) A-iii, B-i, C-ii, D-iv
fefeied agEmrt q9ErEl & I e @

q1Y GAfd By

(A) g9TX (i) FIG M
Tedrd

(B) XA (i) e

(C) & (iii) HETTSg

(D) sfean (iv) 5% 3%
HHEN

(1) (A)-@v), (B)-(1), (O)-(iid), (D)-(i1)
(2) (A)-Gi), B)-(D), (C)-(iii), (D)-(iv)
3) (A)-(iid), (B)-(iv), (C)-(iD), (D)-(1)
@ (A)-D), B)-(i), (C)-(iii), (D)-(iv)

T % PS H SAUS AN H A

P o7 ?
(1) & Fmga (2) W) g
(3) Sfo Eeldd  (4) A T

Frefafed & qd aoor #id bl TqE
g 787 &

(1) RrepR iR &1 5g@ |e o
(2) AFE T § e o

(3) HMT &I IYRXOT S

(4) Y 99T H G FH

FATE ZT SRRl | |l e &
FT ay o
(1) 661 %o
(3) 750 3o

(2) 656 %o
(4) 644 3o
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96.

97.

98.

99.

100.

Match the following rulers and their
regional states formed during 18th
Century :

(A) Hyderabad (i) Murshid Kuli

Khan

(B) Awadh (i) Kilich Khan
(C) Ruhelkhand (iii) Sadat Khan
(D) Bengal (iv) Muhammad

Khan

(1) A+, B-iv, C-iii, D-ii
(2) A-ii, B-iii, C-iv, D-i
(3) A+, B-ii, C-iii, D-iv
(4) A-iii, B-1, C-ii, D-iv
Match  the following  pastoral
communities with the regions they
belong to :

(A) Dhangar (1) Kumayun

and Garhwal
(i) Rajasthan
(iii) Maharashtra
(iv) Jammu and
Kashmir

(1) (A)-@v), (B)-(1), (C)-(iii), (D)-(i1)
(2) (A)-Gib), (B)-(1), (O)-(iii), (D)-(iv)
(3) (A)-(ii1), (B)-(iv), (C)-(i1), (D)-(1)
@) (A)-(1), (B)-(ii), (C)-(iii), (D)-(iv)
Who was the commander-in-chief of the
English army in the battle of Buxar ?
(1) Robert Clive (2) Major Munro
(3) Dr. Hollwell (4) Eyre Coote

(B) Bakarwal
(C) Raika
(D) Bhotia

Which of the following is not the salient
feature of Paleolithic period ?

(1) Hunting was the chief means of
survival

(2) Man lived in caves
(3)

“4)

The Abbasids took over power from
Ummaiyyads in the year :

(1) 661 A.D. (2) 656 A.D.

(3) 750 A.D. (4) 644 AD.

Man had started making stone tools
Man invented Bow and Arrow



101.

102.

103.

104.

e | e W SARER &9 fHar ?

(1) 1111 S0 & (2) 1092 %o H

(3) 1163 0 ¥ (4) 1258 30 §

frefafed & @ #9-91 YEgN  STAEIR

F Hfy (Bxad, 1757 3o) # AT 787

qr ?

(1) TS HUH HI QEa: U A9
glaer Fered |

(2) Fehal i fheiEdl B STgH & A
T |

(3) TS HUA B gF B A eyl
S @ a9 e

(4) STUST &Ul 5 9RG H wERE &
|1y qrifeyel deY T T ae &

et & @ @F-01 & Afaar g9 4@

Hefadg 787 8 ?

(1) &9 o T

(2) =m0

(3) Heiat

(4) et @@ Sias

g Il faREl & "y gAfed

T

(A) MEUH.U. & (1) 21 FaWR,

e & 1945 2o
foes fasie

(B) TR oflt (i) 11 Had,
e & 1946 o
e a8

(C) T 2ead (i) 18 ®ay],
BEEIREE 1946 3o

(D) 38T 9 (iv) 21 IR,
TR Bl 1943 2o
T

(1) A-i, B-ii, C-iii, D-iv
(2) A-ii, B-i, C-iv, D-iii
(3) A-ii, B-iii, C-i, D-iv
(4) A-iv, B-iii, C-ii, D-i
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101.

102.

103.

104.

[A]

When did the Mongols occupy Baghdad ?
(1) 1111 A.D.  (2) 1092 A.D.
(3) 1163 A.D. (4) 1258 A.D.
Which of the following provisions was

not included in the treaty of Alinagar
(February, 1757 A.D.) ?

(1) English Company's
Privileges of trade restored.
Permission  granted to
Calcutta.

Promised to pay the compensation
for the losses to English company.
English company promised to
maintain peaceful relations with the
French in India.

former

) fortify

3)
“)

Which one of the following is not
related to Jyotiba Phule ?

(1) Dharma Tritiya Ratna

(2) Ishara

(3) Sanjeevani

(4) Life of Shivaji

Match the events and the dates of their
occurrence :

(A) Revolt against (i) November,

the court case 21, 1945
of LN.A. A.D.

(B) Revolt against (ii) February
Rashid Ali 11, 1946
case A.D.

(C) Revolt by (ii1) February
Royal Indian 18, 1946
Navy A.D.

(D) Formation of  (iv) October 21,
Indian 1943 A. D.
National
government

(1) A-i, B-ii, C-iii, D-iv
(2) A-ii, B-i, C-iv, D-iii
(3) A-ii, B-iii, C-i, D-iv
(4) A-iv, B-iii, C-ii, D-i
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105.

106.

107.

108.

109.

110.

111.

9 H AroEel & & T &7 ay ©
(1) 1919 2) 1921

(3) 1925 4) 1934

1911 3o & YA WRA H G A Ll
I AEIHIT ol

(1) @R s (2) Tele e

(3) o FRGRER  (4) B 9
T § Ao & oAfdfied |t et
Tl & Al Pl (ORI B ATl
TR AT -
(1) 14 S8, 1933
(2) 30 Sad, 1934
(3) 21 3, 1933
(4) 5 T/, 1933
1823 o # Rl T TRA FHH SffE
gfedeh SN W OrEHanedl # g
fpem e ?
(1) o do fiiHY
(2) Hafr
(3) sfag 8
(4) Tofta g
TUENTE EX Pl EURET fFET S 7
(1) Ui giea (2) &ed 9ot
(3) d FRGRET  (4) T g

[l I ARG AR & AR
FHEE W H AR Fid ¢

(A) FRRTRH (B) 39

(C) T (D) iEEt

(1) A,C,D,B 2) C,A,B,D

3) D,B,A,C @ A,B,D,C
wE s=EE % qiom &

Frreaferiae & | iF-a1 787 o1 ?

(1) @M SHiER av I g |

(2) FN I | Frdferd gia gl |

(3) framl ® ol SRR 9 enfEd
ERIRERIN

(4) ®iw &Y q B anll AeE T |
HUHI I dferd e |
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105.

106.

107.

108.

109.

110.

111.

The communist party of China was
founded in the year :

(1) 1919 (2) 1921

(3) 1925 4) 1934

The architect of Neo Roman style in
India in the post 1911 A. D. period was :
(1) Lourie Baker (2) Edwin Lutyens
(3) Le Corbusier (4) Herbert Baker

The political parties other then Nazi,
were declared act of sedition in
Germany by the ordinance of :

(1) 14 July, 1933

(2) 30 January, 1934

(3) 21 April, 1933

(4) 5 March, 1933

Who led the orientalists in the General
Committee of Public Instructions
formed in 1823 A. D. ?

(1) H.T. Princep

(2) Macaulay

(3) David Hair

(4) Cicil Rhodes

Who designed the city of Chandigarh ?
(1) Edwin Lutyens(2) Herbert Baker
(3) Le Corbusier (4) Lourie Baker

Arrange chronologically the Europeans
in accordance with their coming to
India :

(A) Portuguese  (B) Dutch

(C) English (D) French

(1) A,C,D,B (2) C,A,B,D

3) D,B,A,C (4 A,B,D,C
Which among the following was not one
of the important consequence of

permanent settlement ?

(1) created a class of devoted land
holders.

(2) unexpected increase in agriculture
production.

(3) made farmers completely

dependent upon Landlords.

(4) deprived the  company

incremental growth in income.

of



112,

113.

114.

115.

116.

frefaifed & 9 $9-91 9Rd & qaEd
IR s Far e ?

(1) | (2) TEFHEE

(3) FIEiHe (4) dAAge

TR & THS YORe e T 7w
ey & =9 ¥ S A ® - 98 ©
(1) ST qrgLT

(2) FEITEH

(3) I TMER fods

4) U R e

T H TS 949 g 1789 2o & HMA
SR & 99O O § GEld dU W
fomame #IfT -

(A) 399 Fad ARER ¥ FHe el
(B)ﬁﬁqwaﬁ%%ﬁaﬁgwﬁ

(C) 3 @Rl & Fharaas & &%
TRE & & W

(D) 3@ U FEsidl A & A
SifaehIaTei 8¢ A fhar

ST | HEl FoF HA-4 © 7

() (A) @@ D) (2 A),B) @ ©)

(3) (C)wW (D) 4) (A) T (D)

Frfofed & @ o SO &1 g

T

(1) feramr fep=men

(2) G YR

3) e A3

(4) guH T

HUS gd @M 1715 3o H drR9mE

HEERER Pl W Yo (671, a8 o

(1) fafer™ Bffees

(2) e Wiwad

(3) S aH

4) witgq €
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112.

113.

114.

115.

116.

[A]
Which of the following was not a
muslin producing centre of India ?
(1) Sonargaon (2) Barbakabad
(3) Calicut (4) Lalitpur
The Social reformer of Maharashtra who
is famous as 'Lokhitwadi', was :
(1) Atma Ram Pandurang
(2) Krishna Shastri
(3) Bal Gangadhar Tilak
(4) Gopal Hari Deshmukh
Consider the following statements about

the declaration of human rights by the
National Council in France in 1789 :

(A) It contained rights not duties.

(B) It protected interests of the middle
class.

(C) It had not guaranteed
enforcement of rights.

the

(D) It also assured the proletariat for
livelihood.

Which of the above statements are true ?
(1) (A)and (D) (2) (A), (B)and (C)
(3) (©)and (D) (4) (A)and (D)
Who among the following is not a
Japanese intellectual ?

(1) Liang Quichao

(2) Fukuzava Yukichi

(3) Miyake Setsurei

(4) Ueki Emori

The English delegate who cured emperor
Farrukhshier in 1715 A. D. was :

(1) William Hamilton

(2) Edward Stephenson

(3) John Sermon

(4) Francis Dey

P.T.O.
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T hifeyT oA (1756-1836) &+
TSH FAM H UGHAT B STAHR R,
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(C) fafem e (i) §R

O ERIRRES (iv) & H§ER

(1) (A)-Gv), (B)-(iii), (C)-(i1), (D)-(1)
(2) (A)-@v), (B)-(i1), (C)-(1), (D)-(ii1)
(3) (A)-(iiD), (B)-(1), (C)-(iv), (D)-(i1)
@) (A)-1), B)-(i1), (O)-(iid), (D)-(iv)
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(2) g e fapiad e

(3) [igEH # Hewon g fnan
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() g™ 91 §AEE 3 S5Edd &l
q: S form o |

() =8 4 gHgE AR B R
SIRIEEREIN
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117.

118.

119.

120.

A Scottish Engineer (1756-1836) who
designed the first modern roads, was :

(1) Robert Fulton

(2) Charles Goodyear
(3) Samuel Morse
(4) McAdam

Match the following scientists and their

discoveries during Renaissance period.
(A) Cordus (i) Carbon
dioxide

(B) Helmount (i) Anatomy of

human body

(C) William (iii) Ether

Harvey
(D) Vesalius (iv) Blood

Circulation

(1) (A)-(iv), (B)-(ii1), (C)-(i1), (D)-(1)

(2) (A)-(iv), (B)-(i1), (C)-(1), (D)-(ii1)

(3) (A)-(iii), (B)-(1), (C)-(iv), (D)-(ii)

4) (A)-(1), (B)-(i1), (C)-(iii), (D)-(1v)

Which of the following is rot true about
the Roman Emperor Constantine ?

(1) Accepted christianity

(2) Developed monarchy

(3) Appointed co-ruler in the west

(4) Bore the title of "equal to Apostles"

‘What was the cause of the third crusade ?

(1) The Saladin
reconquered Jerusalem.

Muslim  leader

(2) The participation in a crusade
ensured salvation by the Church.
(3) The Church offered forgiveness of
sin.

(4) The participation spirit of all
classes of society
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122.

123.

124.

125.

126.
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121.

122.

123.

124.

125.

126.

[A]

Arrange the following Shunga rulers in
the chronological order :

(A) Agnimitra (B) Pushyamitra
(C) Vasujyeshtha (D) Vasumitra

(1) A,B,C,D (2) B,A,C,D

3) D,C,A,B &) D,B,A,C
Which in the following is not the
eastern coastal port of ancient India ?

(1) Tamluk
(2) Korkoi
(3) Kaveripattanam
(4) Pantal

During the Mughal period the land
cultivated by the farmers of another
village was called :
(1) Khudkasht
(3) Muzariyan

(2) Pahikasht

(4) Khalsa

Which of the following archaeological
sites of Neolithic age is not known for
‘ash mounds' ?
(1) Burzahom
(3) Pallvay

'Abwab' refers to :

(1) Land revenue demand

(2) A system of execution of contract

(3) Extra legal charges exacted by
nobles

(4) A revenue paying province

(2) Utnoor
(4) Kupgal

Given below are two statements, one is

Assertion (A) and the other is Reason (R).

(A) Akbar followed Rajput policy as
Rajputs were true to their words.

(R) Afghan policy of Akbar was different
on account of the circumstances.

Option :

(I) (A) is true but (R) is not the correct

explanation of (A).

(R) is true and (R) is the correct

explanation of (A).

(R) is false and (A) is true.

Both (A) and (R) are false.

2

3)
“)

P.T.O.
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132.
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(1) 399 SEd & 9 9F H1 IUe faar
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3ueeT &
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gqﬂ'ﬁﬁ?ﬂﬁ a

4) Sgeqdres H fasard fepa
defamErett & o i fan
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A. @oTgyer B. @R

C. YeX T D. w9 FH

(1) A TdB (2) A,BTdC

3) CuwdiD (4) B,CuwdD

AT a0 A9H &l A ® A B
Haba e &

(1) FN 3T ¥ ghs g |

(2) FN AT g-&5 F FA A |

(3) USIEH Tl gacar he g3 |
4) Framl & 8 a9 s gs |

feeell b1 g SEH w@d & el bl
I eROT HT T, T8 AT ¢

(1) THEEN GawEae

(2) SFAE

(3) HYFEN JIREHAE

4) frRmeTE

fefafag & ¥ ®9-91 e 3}
faffg 722 ?

(1) didl #1 "5Feq

(2) TFET Fl F

(3) Tl AR @R

(4) IR a0

Fret 1 gafaa ik

(A) I (i) 7

(B) gasI® (i) B

(C) TUSigTdsh (iii) STEEe X e
(D) ®MiPER  (iv) SOT9E

(1) A-ii, B-i, C-iv, D-iii
(2) A-i, B-ii, C-iii, D-iv
(3) A-iv, B-ii, C-i, D-iii
(4) A-iii, B-iv, C-ii, D-i
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127.

128.

129.

130.

131.

132.

What is not true about the Bhakti

movement ?

(1) It preached a simple way of life

(2) It preached for the direct
communication with the God

(3) It paved the way for equality and
brotherhood among the masses

(4) It believed in polytheism and
directed for pilgrimages

Select what is true about the craft

industries of Chanhudaro :

A. Gold Jewellery B. Shell cutting

C. Seal making D. Bead making

(1) Aand B (2) A,BandC

(3) Cand D 4) B,Cand D

Implementation of the policy of 'Nashk'

by Aurangzeb indicates :

(1) The increase in agricultural
produce.
(2) The area of cultivated land reduced.

(3) The weakness of the administrative
machinery.

(4) The advantages to the farmers.

The sultan of Delhi who himself took

up the title of caliph was :

(1) Nasiruddin Khusaravshah

(2) Kaikubad

(3) Qutubuddin Mubarakshah

(4) Nizamshah

Which among the following was not

built by Jahangir ?

(1) Biwi ka Makbara

(2) Akbar's Tomb

(3) Moti Masjid Lahore

(4) Shalimar Bagh

Match the following :

(A) Ratnavali (i) Mayoor

(B) Suryashataka (ii) Harsha

(C) Chandishataka (iii) Jayaditya and
Vaman

(D) Kashikavritti (iv) Banabhatta

(1) A-ii, B-1, C-iv, D-iii

(2) A+, B-ii, C-iii, D-iv

(3) A-iv, B-ii, C-i, D-iii

(4) A-iii, B-iv, C-ii, D-i



133.

134.

135.

AT 1 G- | gafer iR 3T
Are B T g # N A BT AR

T Y+
GQEil-1 El-11

(A) =S qed (i) Hig

(B) THaTEl FS (i) wigdl

(C) TN @ (iii) HEHaTEE

(D) ST @1 (iv) AlHYT
AT

%< -

(1) A-ii, B-i, C-iv, D-iii

(2) A-iii, B-iv, C-ii, D-i

(3) A-iv, B-i, C-ii, D-iii

(4) A-i, B-ii, C-iii, D-iv

M= 4 9 & 7y ffAvel & ar |
a1 31 &, 98 B

(1) STag™HIar

(2) Tewie

(3) g

(4) Harerd

-1 & -1 | Hiod T
N U

GQEil-1 gEl-1I
(A) HIIT TEE (1) FIel A

(B) dHiE-u-He=el (ii) Jeve faeme i

(C) fehame-Sa-Tea (iii) =7 e

(D) GIe-3Aet-EadF (iv) EarT 37g At
BTl

%< -

(1) A-ii, B-iv, C-iii, D-i

(2) A-iv, B-iii, C-i, D-ii

(3) A-i, B-ii, C-iii, D-iv

4) A-iv, B-iii, C-ii, D-1
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133.

134.

135.

[A]

Match List-I with List-II and select the
correct answer using the codes given
below :

List-1 List-11
Hindola Mahal (i) Mandu
Eklakhi Tomb (ii) Pandua
Teen Darwaja (iii) Ahmedabad

(A)
(B)
©
(D) Jammat Khana (iv) Malikpur

Masjid

Codes :

(1) A-ii, B-1, C-iv, D-iii

(2) A-iii, B-iv, C-ii, D-i

(3) A-iv, B-i, C-ii, D-iii

(4) A+, B-ii, C-iii, D-iv

Which of the following texts gives
information about Minander ?

(1) Avadankalpalata

(2) Historica

(3) Indica

(4) Mudrarakshasa

Match List-I with List-II and select the
correct answer, using the codes given
below :

List-1 List-1I

(A) Kamilut- (i) Ibnul Asir
Tawarikh

(B) Tarikh-i- (i) Muhammad
Muhammadi Bihamad Khani

(C) Kitab-ul- (ii1) Ibn Batuta
Rahala

(D) Futuh-al- (iv) Khwaja Abu
Salatin Malik Isami

Codes :

(1) A-ii, B-iv, C-iii, D-i
(2) A-iv, B-iii, C-i, D-ii
(3) A-i, B-ii, C-iit, D-iv
(4) A-iv, B-iii, C-ii, D-i
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A9 veE | HeneE SiF e o1 ¢

(1) & fg9m &1 79a
(2) T fa9rT &1 9ge
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HW 39 [T BRI 59 T § AU o
e H I fhAT T B, a8 ©

(1) TR

(2) TSI SfEar

(3) Ta TMia=

(4) dled =reg

qiﬁ -1 # -1l | gAki #ie
A 2 T g | el I gy
Q-1 E-11

(A) T (i) aror=E

(B) ade (i) 9

(C) aras (iii) 9N

(D) AYddT (iv) %ga

%< -

(1) A-i, B-iv, C-iii, D-ii

(2) A-ii, B-i, C-iv, D-iii

(3) A-i, B-iii, C-ii, D-iv

(4) A-iii, B-iv, C-ii, D-i

frfafag & @ @-a1 v a7
TR ?

(1) FHreamEst

(2) FIHAR =N

(3) erai gl

(4) AT FA

Frfafad & 4 @F-81 TR T F o
THA AeY 787 A1 ?

(1) S (2) STEHEER

(3) SR (4) Hra
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136.

137.

138.

139.

140.

Who was Kupyadhyaksha in
Mauryan administration ?

(1)
(2)
(3)
4)

the

Head of forest department

Head of mining department

Head of transport department

Head of weights and measures
department

The ideals of kingship have been were
mentioned by Krishna Dev Ray in the
text called :

(1) Amuktamalyada

(2) The supreme light incarnate
(3) Gita Govinda
(4) Lalit Madhva

Match List-I with List-II and choose
the correct answer using the codes
given below :

List-1
(A) Rigveda
(B) Yajurveda (i) Shakal
(C) Samveda (iii) Shaunaka
(D) Atharvaveda (iv) Kaumuth
Codes :
(1) A+, B-iv, C-iii, D-ii
(2) A-ii, B-1, C-iv, D-iii
(3) A+, B-iii, C-ii, D-iv
(4) A-iii, B-iv, C-ii, D-i

List-IT
(i) Vajasneye

Which of the following is not composed
by Dandi in the following ?

(1) Kavyadarsha

(2) Dash Kumar Charit

(3) Avanti Sundari

(4) Dvayashraya Kavya

Which one of the following cities
during the Mughal period was not a
mint city ?
(1) Agra
(3) Ajmer

(2) Ahmedabad
(4) Bhopal



141.

142.

143.

144.

1 § 9 #9-a1 9Wig st @
i el & 78 & ?

(1) "hfgar (2) STIAE
(3) dferd foedR (4) geRrEE

9§ 9 3o @ @™ g
Sfeafad fafer &1 aa 787 2 7

(1) 74 (2) @EER

(3) =R 4) TG

TR FeiE el AR NS I

frae [T 3 g & @ gafaa #ie ¢

(A) I FE d= (1) T

(B) Tairan (ii) @1

(C) Ao (iii) TR, T,
e aiEal

(D) ¥ 80 a&  (iv) ST AR} dRR
(&fe)

(1) A-iii, B-iv, C-ii, D-i
(2) A-i, B-ii, C-iii, D-iv
(3) A-iv, B-iii, C-ii, D-i
(4) A-ii, B-i, C-iii, D-iv

M 39 & AYER T & SR wd o
F gAferd HIf

(A) " () =g I+ F=

(B) et (il) 99

(C) Taf¥sm (i) &g 5

(D) B F9 (iv) 9 & 99,
qRdsh @ ST
0 S

(1) A-i, B-ii, C-iii, D-iv
(2) A-iv, B-i, C-ii, D-iii
(3) A-iv, B-iii, C-i, D-ii
(4) A-iii, B-iv, C-ii, D-i
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141.

142.

143.

144.

[A]

Which among the following is not the
secular literary source of Indian History ?

(1) Neetisar (2) Arthashastra
(3) Lalit Vistar  (4) Mudrarakshasa

Which one in the following is not
among the four sources of law as
mentioned by Kautilya ?

(1) Dharma (2) Vyavhar
(3) Charitra (4) Pratyukta

Match the following Mughal cities and
the manufactures they were famous for :

(A) Silk weaving (i) Madras

centres
(B) Carpet (i1) Dacca
(C) Muslin (ii1) Lahore, Agra,

Fatehpur Sikri
(D) Calicos (iv) Agra and Lahore
(1) A-iii, B-iv, C-ii, D-i
(2) A-i, B-ii, C-iii, D-iv
(3) A-iv, B-iii, C-ii, D-i
(4) A-ii, B-i, C-iii, D-iv

Match the following types of
knowledge and their meaning according
to Jainism :

(A) Matigyana (1) Sensory
knowledge
(i1) Scriptral
knowledge
(iii) Extra sensory
or clairvoyance
knowledge
(D) Manahparyaya- (iv) Knowledge of
gyana other's  mind
and heart or
telepathy
(1) A-i, B-ii, C-iii, D-iv
(2) A-iv, B-i, C-ii, D-iii
(3) A-iv, B-iii, C-i, D-ii
(4) A-iii, B-iv, C-ii, D-i

(B) Shrutigyana

(C) Avadhigyana

P.T.O.
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145.

146.

147.

148.

149.

150.

The term noft related to the measurement
of land in the Gupta period, is :

(1) Aadhvap
(3) Aprahatvap

(2) Dronavap
(4) Kulyavap

The Rashtrakuta ruler who built Ellora
Kailash temple in 8th Century was :

(1) Govind II (2) Krishnal
(3) Dhruv (4) Govind III

Which among the following is not a
part of the Republican administration
during Mahajanpada period ?

(1) Asanapanyapak (2) Ganapooraka
(3) Vinayadhar (4) Ubbahika

Where the archaeological sites of
Mesolithic period have not been found ?

(1) Kashmir (2) Rajasthan
(3) Madhya Pradesh (4) Maharashtra

The musical drama 'Swang' is mainly
played in the region of India is :

(1) Maharashtra and Andhra Pradesh
(2) Punjab and Haryana

(3) Manipur and Tripura

(4) Bengal and Bihar

Which of the following pairs is not
correctly matched ?

(1) Bheetargaon — Vishnu temple

(2) Nachanakuthar — Parvati temple

(3) Bhoomra — Shiva temple

(4) Tigava— Sun temple
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6. Answers to questions in answer sheet are to be given by

darkening complete circle using Black ball point pen as

shown below :
O @ ® @

The answer will be treated wrong, if it is marked, as given below :

©OR &>

If you fill more than one circle it will be treated as a wrong
answer.

10.

11. U=

12.

13.

14.

15.

16.

17.
18.

19.

20.

. % B W—gﬁﬂrbl # 39 o & forg & E @relt SFE W & &Y | (Rough work should be done only in the space

provided in the Question Booklet for the same.)

. T IR Bad OMR TR U6 R 81 3ifdhd &Y | 30 IR &IHYdd 2Afhd T | IR g =g 29d Joidh (ABE Fogs) Bl

T g ® (The answers are to be recorded on the OMR Answer Sheet only. Mark your responses carefully. Whitener
(white fluid) is not allowed for changing answers.)

LTS T & forg Ry g aR et § 9 3fa fadwer & fw OMR STR 956 W &ad Ud gd @I & T Re Pl ard

wrge 9 9 T Th IR SR 3ifd BT B 971G I dGoll el off bl 8 | (Out of the four alternatives for each question,
only one circle for the most appropriate answer is to be darkened completely with Black Ball Point Pen on the OMR Answer
Sheet. The answer once marked is not allowed to be changed.)

el gHARad o 6 59 SR 45d B Hiel 9 WY Td I R BIg 3 M9 7 M | 3ngedi =1 gl SR U3d
# feiRa v @ srfaRad e=u 7 foRd | (The candidates should ensure that the Answer Sheet is not folded. Do not make
any stray marks on the Answer Sheet. Do not write your Roll No. anywhere else except in the specified space in the Answer
Sheet.)

—gRAPT T IR TS HT SAFYED JANT By, Fifd B aRRefT # (ge—gRaer wd SR w96 & wAie 3 e
B! RAT BT BredR) T YT YRAST T ST T8l HYATs WG | (Handle the Question Booklet and Answer Sheet with
care, as under no circumstances (except for discrepancy in Question Booklet and Answer Sheet Serial No.), another set of
Question Booklet will not be provided.)

THA—gRTHT /IR TFF H Y Y HHG BT el el WP A WINER dic H A | (The candidates should write the

correct Number as given in the Question Booklet/Answer Sheet in the Signature Chart.)

mﬁﬁﬁmm/¢aﬁmwaﬁ?ww$aﬁﬁmﬁﬂﬂwaﬁm—w gfad a1 gRfIRad HITST Bl
i, ISR, Hi9sd BIF, Soldci~ih sqmwmﬁﬂﬂmwaﬁﬂmﬁaﬁéﬁnﬁmwmﬁwﬁﬁél
(Candidates are not allowed to carry any textual material, printed or written, bits of papers, pager, mobile phone, electronic
device or any other material except the Admit Card and Identity Card inside the examination hall/room.)

TfId gRT 8 oM W YIS gl 3T gawr dre ([ o) 3R uga™ ux Wi | (Each candidate must show on
demand his/her Admit Card (Roll No.) and identity card to the Invigilator.)

P efetd AT Tded B A SH‘T% P 77 PIE el JmuFT I |7 B | (No candidate, without special permission of

the Superintendent or Invigilator, should leave his/her seat.)

HRIRT TAdETH BT AU IR UAB QU 1 v AR A€ R SEART BRAER [Py 97 angefi uden gfa 7€ v | Ay
el apell 1 A IR EWER A1 W BWER el by A1 g AMI SN {6 S99 IR U3d 8] dlerl & AR I8
JTfad | &1 AT AT STYT | OMR SR U3d § FuiRa o w | anafdial gmr 9 w19 & o &1 foeme
wrrmmélw@m%wﬁwwmmmwmﬁswﬁﬁwﬁﬁwﬁmmﬁwﬁaﬁ
qEAT 7A@ E|§T‘f AITTH §8d ®H | (The candidates should not leave the Examination Hall without handing over
their Answer Sheet to the Invigilator on duty and signing the Signature Chart twice. Cases where a candidate has not signed the
Signature Chart second time will be deemed not to have handed over the Answer Sheet and dealt with as an unfair means case.
All candidates have to affix left hand thumb impression on the OMR answer sheet at the place specified which should
be properly inked i.e. they should not be either over inked or dried in nature.)

golagid / gxcarferd URderd &1 SUANT afSid & | (Use of Electronic/Manual Calculator is prohibited.)
et Bt # MmeRvr & forg, apwneff fyarforast # & 13 ufhan / feen—fder g 98 & it el vd fftgst & Ry s < |
31‘3’%1?[ R e IOl e o ) B Re T IR IO ot R ol 1 o | AR 8FTT| (The candidates are governed by

Guidelines/Procedure given in the Information Bulletin, all Rules and Regulations of the Board with regard to their conduct in
the Examination Hall. All cases of unfair means will be dealt with as per Rules and Regulations of the Board.)

A BT H U DT 3R SR Y=Ib BT I 9T AT T BN | (No part of the Question Booklet and Answer Sheet shall
be detached under any circumstances.)

Wl T 8 W, gl Fe /B Bled W Yd SR UFG HE-UUdAS BT @A WU | gl o W s
W—W P o ST A& €| (On completion of the test, the candidate must hand over the Answer Sheet to the Invigilator
in the Room/Hall. The candidates are allowed to take away this Question Booklet with them.)
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